FT1E TF4—ILEyvia iER

REIERL K4 Bx STTEH =an
1 E B 40 FSARAUb, tea TS5
1 FTHY= 5 40 RFSARAUb, teal TS5
3 YLD 5 36 T—E2T($8) / FSARAUb
4 BTN B 35 EURA—(F)
5 OP 2] 33
5 X (NL) B 33 ATYh— / F—HRILE— /Fa—o1\v5
7 4 lo o g T 32 FSARAb, tea TS5
8 [E-oL— 2] 30 EVRA—(F)
9 ¥ B 29 ATYh— / F—RILEF—
10 VA4 £ 28 EURA2—(R)
11 mAR#ET 2] 27 ATYh— / F—RILE— / T—EVS ($8)
11 ARXF 5 27
13 =4 = 27 ATYh—orF—iRILF— / EVRE—(A)
13 71 T 27
15 A HRHE 5 26 ATYH—or¥—RILE— / EVARE—(FA)
16 RrTOF 5 25 EURA2—(8)
16 avky 5 25 T—E>T ($8)
18 3Pax 5 24
18 2TER =] 24 ATYN— / F—HRILFT—
18 =} 5 24
21 THAhD 5 23
21 R ARFEW <] 23 T—E T (FE) / 'BVRE— ()
23 N2 5 22
24 EVIN 5 21
24 AN Qe 5 21
24 NAO T 21 ATYh— / F—RILE—
27 E3s]A 5 20
27 /)% 5 20
29 YheERQ 2 19
29 Y FEL B 19 EVRA—(F)
31 AL (&7D) % 18
32 R)A 5 17
32 WA KB = 17 ATYH—orF—RILA— / EVRA—(#%)
32 =4 = 17
35 7— = 16 ATYh—orF—RILE—
35 av4 o3 16 teal75L / T—EVY (FHE)
35 HE 5 16
38 HE—2Z 5 15
39 YRAI 5 14




39 M- 7 T 14 tealIS5Y / F—RILF—
41 oS T 13

42 RASE B 12 teal 75

42 IS % 12

42 <& 5 12

42 TAY< g 12 ATYH—orF—RILE —
46 7% % 11

46 X917 5 11

46 HTH = 11

46 o 5 11

50 =— 5 10

50 = VAN O 5 10

50 EF =] 10 EVRA— (%)

50 o5h7 5 10

54 L ALA B 9 AT YH—orF—rR)LE —
55 NS e 8 T—E>5 ($8)

55 YTELD) =] 8 ATYh—orF—R)LE—
57 FhIY < 7 asanad ¥

57 PAVE S Lyl ) 5 7

57 M B 7

57 Io)— 2] 7 ATYH—orF—iRKILA —
61 iy = 6 EURA—(F)

61 7y 5 6

61 ATV 5 6

64 M2 R— 5 5

64 PO 5 5

64 RAAIN E: 5 teal7 5>

67 FUINAXA = 4 teal I S

68 kS = 3 T—E>5 ($8)

68 BT * 2] 3 T—E T (FH)

68 MEISOH 8 3

71 o4& 5 2

71 BAF £ 2 EVARA—(A)

71 IOE 5 2

71 93= 5 2 ATYh—orF—RILE—
75 M:KAHO = 1

75 17+t 5 1 EURE—(#%)

77 E N 2] 0 EURE—(#%)




